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A man acquires but a minor does not acquire

OVERVIEW

The & na cites the ruling of prx® " (who derives it from the 05 of 7% NP
v°X) that only a mature man can a acquire something on behalf of someone
else'; however a minor cannot acquire anything on behalf of someone else.
mooin explains the need for this 717°% (and 109).

nooIN asks:
— 31\?‘,75 2‘1’ JONT (2,09 91 PV ]5 NP N NP "y 1179 9NN ON)

And if you will say; and why do we need a o2 to teach us that a jop
cannot be 71217 (for others); for we have already established that a Jup has
no 7°?!

N1B0IN answers:
— DNV NYIIND THIUT NN PRYT KPYDT TPHVIN NDD Y3357 911 U

And one can say; that concerning the nop j27p it is necessary for the P09
to teach us that 7217 jup X1, for we may have thought that since a jop

participates in the eating of the rop 1277 -
— Y07 19%9X 125 AY ¢ mmw) 29097 “PYY MINY T

And it is necessary that he be counted in on the 1277 as it is written, ‘a

sheep for the household’, including even a Jup, therefore -
219 YIYUN RP NOT OIINNY GN NN

' J21%" can purchase something (or receive a gift) on behalf of 1w»w. When 12187 acquires the item (by
making a proper 1), the item belongs to 1nwnw. However a 19 cannot acquire on behalf of others. This is
derived from the 105 of NMar n°a% nw w°R o2 WP, that only an adult man (not a Jvp) can acquire a sheep
for the oo 127p on behalf of his family (max n°2), etc.

% The term 7° (a hand) means the capacity to acquire objects for one’s self. A 1op lacks that capacity.

> The ’n™ 2 there is discussing a case of a 73 who died and left over slaves, 09173 and 2°vp; the rule
(according to 9w Xax [which is the 719%7]) is that the 2°9173 0°72¥ acquire themselves and become freed,
however concerning the 0°1vp 2°72¥ whoever is 172 P 1n is J72 707, since the 0°3vp 2°72y¥ have no 7 to
acquire themselves. This proves that they cannot be 7217 even for themselves and certainly they cannot be
11211 for others.

* One is not permitted to eat from the 1109 1277 unless he was ‘counted in’ on this 1277 before the v nw. The
o°1vp must also be counted in on the 127p. This may be done by the owner of the j27p, if he so chooses, to
count in the o°3vp. He is 7277 for the 7vp a part of this 127p. Usually one cannot be 71317 for a jop (since a jup
cannot make a m°?w), however this case is the exception. Therefore one could assume that just as one can be
71077 for a Jup by the n1od 127p, so too the Jup can be 71211 for others concerning a 11od 127p.

313 P09 reads N2 AW NIAR N2 W WK DA WP,

® mooin here is assuming that Mar n*2% 7w (including a jvp) is Xn>RTA. See however X,12 071
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I would have said that the v could be 721t for others as well; therefore
the 105 teaches us that even by a ros 129 only 7217 WX but not a Jop.

SUMMARY
It is necessary for the 2105 to teach us that a v cannot be 7317 (for others) by
a oo 127, since a nod 127p is unusual that someone can be 71217 for the jup.

THINKING IT OVER
mooIn argues that the 7109 is unnecessary since we know jop? 7° PX. Perhaps
it is from this P00 that we derive Jop> 7 1x?2!

7 See mIpn and MY WS M.
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